Aptitude Test
Paper 1I

Time Allowed : 2 Hours] [‘Maximuﬁx Marks : 200

Directions (Q. Nos. 1 to 4) :
Read the passage carefully and
attempt Question Nos. 1 to 4 by

people combine to produce a person

about whom everyone says he’s a
natural leader. Effective leaders
start with same natural talents, and
then they build on them. They are
good at observing how to do it and
how not to do it. They learn from

their experience and they keep on

choosing the most appropriate
option :
Astute Management is é’etting
things done through people.
Management is required because
someone has to point the way and

learning.
1. Which of the following is the

that same person has to ensure that
synonym for the word clichés as used

everyone concerned gets there. It is
a common saying that,” managers
are naturally born”. Like all clichés

in the passage ?

(A) Groundnut

there is some truth in it although (B) Truism

it cannot be taken literally. There .

are many successful managers (C) Fopznula
(D) Hidden

around, who demonstrated their
abilities at an early age have never | 2. What is Judicious Management ?
looked back since. They have natural
talents, and although they may not
have actually been born with them,
these talents have been fostered by
their upbringing and experiences at
school, university or in the armed
forces. Their charisma, inspirational
qualities and wéys of handling

(A) Give direction and follow people
(B) Never to look back for support
' or help
(C) Telling people the meaning of
success
(D) Being able to achieve goals with
the help of people
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Astute Management is getting good at observing how 0 do it and
jearn from

things done through people.
Management is required because
someone has to.point the way and
that same person has to ensure that
everyone concerned gets there. Itis
a common saying that,” managers
are naturally born”. Like all clichés
there is some truth in it although
it cannot be taken literally. There
are many successful managers
around, who demonstrated their
abilities at an early age have never
looked back since. They have natural
talents, and although they may not
have actually been born with them,
these talents have been fostered by
their upbringing and experiences at
school, university or in the armed
forces. Their' charisma, inspirational
qualities and ways of handling
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how not to do it. TheY

2.

their experience and they keep On

learning.

Which of the following
synonym for the word clichés as used

is the

in the passage ?

(A) Groundnut

(B) Truism ;

(C) Formula

(D) Hidden

What is Judicious Management ?

(A) Give direction and follow people

(B) Never to look back for suppor
or help

(C) Telling people the meaning ¢
success

(D) Being able to achieve goals wi

the help of people
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3. What combine together to produce | 6. My children cannot endure____.

a natural leader ?

(A) my separation.
(A) Role of and

environment

heredity
(B) separation of me.

(B) Zeal to lead people even when (C) separation from me.

they do not desire (D) mine separation.

:B‘f' (C) Charisma and inspirational | 7. Ruminant is
s qualities
y (A) a cud chewing animal.
'[ (D) Born talent for good observation ¢
' (B) to declare beforehand.
4  Which of the following is the o declare beforehan:
antonym for the word Charisma as (C) a science of diseases of animals.
used in the passage ? (D) globe trotter.
(A) Repulsion 8. Give me something to drink, 1
(B) Allure shall die.
(C) Charm (A) else
(D) Captivation (B) or
Directions (Q. Nos. 5§ to 16) : (C) because
Fill in the blanks wi
i : in nks with thg correct (D) if not
option. 2 .
5 Is thi Orient - 9. A connoisseur of good food is called
3 s __ Orient or __ Longman
publication ? as -
(A) an, an (A) dietician
(B) an, a (B) heretic
(C) an, _ (C) foodie
(D) an, the (D) gourmet R
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3. What combine together to produce | 6. My children cannot endu

a natural leader ?
(A) my separation.:

(A) Role of and

environment

heredit;
ey (B) separation of me-
i me.
(B) Zeal to lead people even when (C) separation from
they do not desire (D) mine separation-

(C) Charisma and inspirational [ 7. Ruminantis ______ -

liti .
qualities (A) a cud chewing animal.

(D) Born talent fc i
ent for good observation (B) to declare be forehand.

4.  Which of the following is the
antonym for the word Charisma as

(C) a science of diseases of animals.

used in the passage ? (D) globe trotter.
(A) Repulsion 8. Give me something to drink, T

(B) Allure shall die.
(C) Charm (A) else
(D) Captivation (B) or
e (A ®. 5 ¥ 16) ¢ (C) because
T foen @ f e ® (D) if not

_T:F'ﬁ“?rrm
5. Is this _
publication ?

9. A connoisseur of good food is called

Orient or __ Longman
: . as 5

(A) dietician

(A) an, an
(B) an, a (B) heretic
(C) an, _ (C) foodie
(D) an, the " (D) gourmet
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10. A general pardon gy, o 10. A general i
political L B ST N N pardon for political . .
offenders is known S 14. The French Government the offenders s known . § 14. The French Government the
(A) hospitable rebellion with a firm hand. (A) hospitable rebellion with a firm hand.
(B) armistice (A) put down (B) armistice (A) put down
(C) forgiveness (C) forgivenoess
E (B) broke away wsheen (B) broke away
o (D) amnesty (D) amnesty
f s (C) instigated . (©) instigated
] 11. He .w unable t0 ___ the meaning shgato 11. He is unable to ___ the meaning "
“ of this passage. (D) castigated of this passage. (D) castigated
. (A) make off (A) make oft
. 15. Institutions have to with 15. Institutions have to with
_ (B) make up (B) make up
a lot ise. ' lot of noise.
(C) make out . » lot of noiss (C) make out ol SR
(D) make over (A) send for (D) make over (A) send for
12. Loveleen is the most fussy girl that (B) make down 12. Loveleen is the most fussy girl that (B) make down
I __ met. I __ met.
(A) have ever (C) put up (A) have ever (C) put up
(B) had ever (D) turn away (B) had ever (D) turn away
(C) had (©) had
It was a task for the cadets to 16. It wasa_____ task for the cadets to
(D) have (D) have
cross the mountain. ' cross the mountain.
13. The Honourable Court the » 13. The Honourable Court the
decree. (A) Sully decree. (A) Sully
A (A) set off
A v set om. Amv Q—EVOA-MOBG Amw ocagﬂmcgm
(B) reduced off (B) reduced off
C) Inimi ; , . (C) Inimitable
(C) set aside (€} “Inimitable (C) set aside
(D) set about ‘ (D) Rumpus (D) set about : (D) Rumpus
. -8 AT-II-A 7 P.T.O.
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Directions (Q. Nos. 17 to 23) :

Read the following Newspaper
report carefully to answer the
questions 17 to 23 .

FRAUD ON PASSENGERS

Tuesday bungling at Delhi airport
once again confirmed that its
monopoly position had made Indian
Airlines as callous as it is inefficient.
To recapitulate a disgraceful
sequence, 1.C.764, bound for
Calcutta and scheduled to' leave
Delhi at 4:40 p.m., was suddenly and
inexplicably cancelled without a
word of explanation or apology.
This is of course, an increasingly
common occurrence nowadays with
Indian Airlines, but the ingenious
euphemism chosen this time was
that 1.C.764 has been merged with
1.C.264, due to leave Delhi at 8:30
p-m., and that all passengers booked
on the former were automatically
guaranteed seats on the latter. It
should be axiomatic by now that
such assurances are meant to be
ignored; but faith in officials
promises dies hard and, on the whole,

Indians still treat authority with far
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more respect than it deserves. The
public will probably continue to dg
so even after Tuesday evening’s
nightmare experience when officialg
at the airport check-in counter for
Calcutta brushed aside all previoug
undertakings and flatly announceq
that 1.C.264 could not accommodate
a large number of the passengers
who had been booked on 1.C.764 and
were waiting to go to Calcutta. The

stranded men, women and children

were then advised to have their

tickets rebooked for the following
morning’s 1.C.401, but naturally,
without a word of apology for the
delay and inconvenience or any
suggestion that Indian Airlines
should accept responsibility for the
extra night's board and lodging in
Delhi.

This churlishness was nothing,

however, to the fraud that S:w_

airlines seem to have practiced on
at least some passengers. When
some of the people who have been
shunted from 1.C.764 to 264 and

then told to come back the next day
asked for

Wednesday morning’s 1.C.401. The

e (WP W 17 | 28) .

U H. 17 | 23 & fow wwran-u
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feeeht TadR W WieEn w1 el 3
=g e fohan & i <feem waems=
! s feafd 3 <8 e @ s
o1 fgm & yEmEn g "
& 1w & fag 1.C.764 35, 98
TE 4:40 T IA W &, sraH fa
ol ol wE & % R A
T | T S ST AR & WY
IR BN TRl v ¥ e fa wh

endorsements for"

N

WAER T@F 9 T & 1.C.764 W
1.C.264 & foem = fem T ¥ fowat
freeh @ 8:30 TR T e FvE ¥
1 1.C.764 & WU A H T
£ 7 vem § de gfifeed 1 T wE-
fag % f W@ O A e T
wifgw, formg, Afusfed a”i & &
v o Tl S Ao G e el
W e, st #1 5 AfEw
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w1 T T R w9 W
e T TR Y Tl e W IgH e
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(T=TEA=) framt| foeeht wRa? o 4% & T <ferm wawems B e
H S MfuTeE ¥ o YwfEa & ¥

Duty Officer at Delhi airport’s solve — anything. The point is that
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Qm_.unm._l:awu Mczmm readily obliged, a bureaucratic monopoly _Mwm Huw.&ﬂa TR Ydlen e (A ) W R = s
writing “O.K.” t ; " Airli njoys is unworthy of the . iR IR
eriting ou, he tickets and Airlines enj y - a3 . forg e AR T TER 3zH
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t, oft ith extreme rudeness, e <t : } 2 =3
= obmb MMM? dto ythin (B) All the events happened due IT@ IR F , il (B) =¢ 3
say an e 0
when they ere ) % . .m to mismanagement and A L i g+t R A q RIS A g
at all. No doubt, Indian Airlines will ] ? 7Y gfea TR
. callousness of the Indian o © 3 FTE T T T
now produce a detailed reply to el . w1 fama S S0 qwf W@ e W e TR
. irlines management. R F B
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19. The author feels that D. S. Jolly
Duty Officer at De]hj airport :

(A) Purposely omitted to punch the
relevant entry into the
computer though he signed to
escape the situation..

(B) Did not know the actual
procedure of endorsing an air
ticket.

(C) Was not authorized for such

endorsement in the ticket hence
it had no value.

(D) The procedure that was followed
was entirely wrong because
only airport manager can do it.

20. The passengers of the flight

No. I.C.764,

(A) Were all gentle and polite and
they did not utter a single word
against mismanagement of
Indian Airlines.

(B) Were able to board the flight
on Wednesday after severe
altercation with the. Indian
Airlines authority for their utter
mismanagement and rudeness
in behavior and lies.

(C) Cancelled their Air ticket and
finally travelled by train.

(D) None of the above

T-11—A 12

21. “Bureaucratic monopoly .... is

22.

unworthy of this country”. Why the
author commented like this ?

(A) Because of the mismanagement
that often occur in monopolistic
organization like Indian

Airlines.

Because he feels that people
work only under compulsion
and that cannot be exercised in’
a government organization.

®)

Our countrymen are <m~.w lazy
and do not like to-work hard.

©

(D) None of the above

“This churlishness was nothing,
however, to the fraud that the
airlines seems to have practised on
at least some passengers.” What does
the author mean by saying “this
churlishness” ?

(A) The abrupt cancellation of -

flight.

(B) The absence of duty officer after
announcing the cancellation of
-the flight.

(C) The assurances given are meant
to be ignored.

(D) Harassment of the passengers
without a word of apology for
inconvenience

delay and

caused.

U B o Ve e
O R G S S

TR % fuwr .

(A) 3 SrEEER wRfefs @ fod &
ﬂﬂwﬂnﬁ.ﬂg@ﬂjg
# Sw @ B )

(B) = fewe gfem (wErdie) s
HE F T A @

(©) feFe gfe (weErdie) =0 & fau
Ie fupa T oW gy IE
TR =Yg )

(D) T9& WiHa Tom A s S
TR YEYE § W @ o
afaFa B 7

20. .a.mmﬁﬂ 1.C.764 & I .

(A) 94t wg 9 fam & 1 3= fea
TRAEH & YO & favg
it e AE wE

(B) oo TReE & AfuwiEl &
YA, B W T { HH

TH D TREH GUGR H IZH T

H gra ®I

(©) & o1 TR foFe TG W T

I w
(D) 3 o § w8 &

AT-11—-A
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FFEY & few)
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(B) i 3 T & T A T
| FH FW w)
(C) TR I TR e & 9w
T FT =N
(D) &= | ¥ w8 &
29. “TE ATRER A %@ TE AwA sfed
TR Y HE A $ W e
fora " oiEE & ER Ie TR
J = I ¥ ?

(A) TR F FAE TE TN
(B) TTF TE 31 | HO0N & IR
L e SETEE )
(C) AR fFl T A A RIS W
= fau A
(D) = argfan @ A & forg foen
R aEET & IR )

13 P.T.O.



23. The author is of the opinion :

(A) To stop such mismanagement,
government should bring some

competition

among the

organizations.

(B) The explanation given by

Indian Airlines authority for
such incidents has ceased to
command credence long ago.

(C) Monopolistic vommaob, has made
Indian Airlines inefficient and
callous. ’

(D) All of the above are true.
Directions (Q. Nos. 24 to 27) :

In each of the following
questions, one of the words is
written in bold. From among
the four alternatives given
below each question, choose
the word which is nearest in

meaning to the bold words :

24. We have abundant data on the

relationship of brain and body size
in reptiles.

(A) plentiful
(B) spacious
(C) extensive

(D) considerable

word in the paragraph.
(A) high-sounding

(B) wrong

(C) difficult

(D) superfluous

26. They were totally unaware of the
impending disaster.

(A) threatening
(B) imminent
AOV_ terrible
(D) possible

27. Grouping stars by constellation is
handy way of mapping the sky.

(A) nice
(B) funny
(C) manual
(D) 856%03
Directions (Q. Nos, 28 to 30) :

Choose the word which is most
nearly the same in meaning as

each question :
28, INSOLVENT

(A) poor

(B) bankrupt

(C) penniless

(D) broke

AT-II—-A 14

95. There is not even one redundant |

the word given in capitals in’

ehedis

23, UEF H W ¥ .

(A) @ T § a3 § fag TR
= fofi gt # wReifrn @
i
(B) e v gri tat wemad &
ferg & sm aeft ot favara @
TH T |

(©) fem TRaEw F iR
feafa 3 38 w3 9 ey a7
feam #

(D) 3udw ot Wl

vw_mﬂ (YT . 24 W 27) :

Frrefefias e v o 1@ visg ares
(Bold) ffigw %1 = farehedi & &
fafyres: sifFa (Bold) v & W&l
frerean ad 9@ v A IFE -

24. TR TN FE A F AHR G A
& ey # wex T d st
(A) SgaEd
(B) fawg
C) &
(D) fo=mvig

26.

AT-TI—A
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o5, Y # ww off wer Prde 7@ ¥

217.

(A)- st g @ @
(B) T

(C) wfeA

(D) v

3 A Tt A A fowa SRS
91 .

(A) Y9! U

(B) 3EvEmE!

(C) Ta* (V)

(D) Gwifaa

AW F AAfTA ) oA B el
gfaarerd 1 F aReied d wfed
FEA T

(A) 3= .
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(B) TR
(C) TR (FrammEet)
(D) OTA/3HEH

frder (uv ®. 28 | 30) :

fraredi o QA T g T A A
% fau My Hfwew (Capitals) &,
Calip il g

28. @5 # g@ g (INSOLVENT)

(A) T
(B) fearfer
(©) &
D) & &
P.T.O.



29. LYNCH
(A) hang
(B) madden
(C) kill
(D) shoot
30. REBATE
(A) compensation
(B) loss
(C) refund
(D) discount

31. Which figure should come right after
the problem figures, if the sequence
Is continued ?

AT-11—A
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32. In a certain code GONE is written'
as ‘5 % 2 # and MEDAL is written,
as ‘4 # 3 $ @, how is GOLD written

in code ?

(A) 5@ % 3

B) 5% @3

C)s5#@3

D) 5 % #3
3. Fill in the missing (?)
COMPUTER fqprxvht
E@@bﬁm D isiimaseee ?
(A) oxpixdig -
(B) ocqicying
© oaﬂ%&.m.
(D) None of the above
Read the following information

carefully and answer the question
given below :

Five friends namely L, M, N, R and
S are standing in a row facing in
the same direction, but not
necessarily in the same order. Only
M is between L and S. N is to the
immediate right of S. R is to the
immediate left of L.

Who is occupying the middle
position in the row ?

(A) L
B) S
(C) M
(D) R

e o

29. T FTVI (LyNcry

32. & fo¥m w § =iz ‘GONE’ |

(A) it 3 5 % 2 # X ‘MEDAL’ W
(B) = ‘4#3 3@ fam wmw ¥, A ‘GOLD
$ SH we |§ :
©) T R T Y o smom ?
Aeh (A 5@ % 3
(D) AR B 5%@3
30. f@2 (REBATE) © 54@3
(A) FoTE . D 5% # 3
(B) == 33. f =M W ()
(C) A = v/ fe COMPUTER :' fqprxvht
(D) we/fEma LANGUAGE : ........... ?
31. ﬁﬂ%q&d@gﬂgﬂgﬂﬁ% (A) oxpixdig
nﬁ@ﬂ%ﬁmﬂﬂﬁﬁ%wﬁmﬂﬂﬁ (B) ocqicying
feq ? (C) ocqixcjg
= A z|# x 3[x 3 #]D OCJ|O COD (D) 3w § ¥ = &
# x 3|C DO|D O C|A 2 =]z =~ 3
CDof= rzfr z =|x 3 #]3 # x|| 34, Frafoafed g0 A =m ¥ ufey &R
= KT v w1 Sw T .
(A) 30 x de A L, M, N, R 3RS @ 9@
0£ D # @ fom A olR g v W ¥
forg T T W & ogER wEd T
AL ‘ L9 S % e 3@ M¥ 1 N, S % TR
By oy 3 Tl ¥ el L & wwew sl R R
e # 9w § w1 TS ¥ ?
3 # x
() |0 ¢p (A) L (T)
= (B) S (TH)
T = X (C) M (W)
3 40D
D 1o ¢ a D R (3M)
P.T.O.
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35. Hemant walks from his house and
moves 4 meters towards North. He

to the right and walks 4 meters.
From here Hemant turns 90° to the
left and moves for another 1 meter.
He finally turns 90° to the right and
moves for another 3 meters, his
final destination. What is the
. distance between the starting and
destination points ?
(A) 4 meters
(B) 5 meters .
(C) 7 meters
(D) 8 meters

Directions (Q. Nos. 36 to hS."

turns at 90° to his right and moves.
3 meters. He takes another 90° turn -

36. How is F related to A ?

(A) Mother
(B) Sister-in-law

(C) Sister
(D) None of the above

47, How is E related to C ?
(A) Sister
(B) Daughter
(C) Cousin e
ev,»w::n
38. Whois C to B ?
" (A) Brother

(B) Brother-in-law

Read the following information
carefully and answer the
following questions given below
it :
In a family there are six members
A, B C, D, E and F. A and B are
a married couple, A being the male
member. D is the only son of C, and
C is the brother of A. E is sister of
D. B is the daughter-in-law of F,

(C) Nephew
(D) Son-in-law

39. How many male members are there

in the family ?
(A) One
(B) Two

(C) Three

and husband of F has died.
AT-1I—A 18

(D) Four

E

35; T AW W} 4 e =t 3w | 36. TH

T ¥ TE T <R @i 90° HEH (A) FE
3 Wi Ie °
; 2 97 3@ e 90° T @ TerTifad
AR g 4 T e 31 = | .
(C) &

90° 9T TSH 1 Hiex I &1 9% 3
7 90° T et 3 X IR =T ©
=t f5 T oifm A 3 I S

O IER § A A A&

& 'T { T odan ¥ 2
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37, ‘LW AT GEY ® ?

sfses fag 9 sifom dfse § fwa (A) T
e ? A
(B) A
A) 4 Wi
(C) == ==
. (B) 5 Hi&
. (D) =
(C) 7 HiX .
38, ‘H’, 'S = o TE e ?
D) 8 X
s (A) T
et (W= . 36 W 40) :
(B) T ST /TG
R T gET e uige @ e R |- N s .
g & IS
(D) TR

T vfER % @ L W@, |, 9,

B $w@ WA, B,C D EandF) ¥

g R frafe e ® R T

_mﬂw_.%...%.ﬁﬁ@ﬂﬁw%

R I R T B R

3R, T R R TE D

1 fd | T R
AT-1I—A .

39, fER ¥ fFa T wWE ¥
A @&

®) A

5%

D) =R
P
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40. How is F related to C ?
(A) Mother-in-law
(B) Sister-in-law
(C) Mother
(D) Aunt

Directions (Q. Nos. 41 to 44) :

Study the information given for
the different questions carefully
and answer the questions which

follow :

A training college has to conduct a

refresher course for teachers ow 7
different subjects — Mechanics,
Psychology, Philosophy, Sociology,
Economics, Science and Engineering
from 22nd May to 29th May. Courses
should start with Psychology. 23rd
May being Sunday should be
holiday. Science subject should be
on the previous day of engineering
subject. Courses should end with
Mechanics w:Emo". Philosophy
should be after the holiday.
Economics subject should be after
Philosophy. There should be a gap

of 1 day between Economics and

Engineering.

AT-1I—A 20

41.

42.

43.

Which subject will be on Hzmmamw 9
(A) Mechanics

.Amv Engineering

[(®) Economics

(D) Psychology

Which subject precedes Mechanics ?
(A) Economics

(B) Engineering

(C) Philosophy

(D) Sociology

‘Eos. many m,m%m gap is there between
Science and Philosophy ?

(A) One

(B) Two

(C) Three

(D) No gap

Which subject is followed by
Science ?

(A) Engineering

(B) Psychology

(C) Philosophy

(D) Economics

40. ‘TR B W F w=y owEy ¥ 2

Frdgr (U . 41 W 44)

}\ -.v;e..,_‘)u.-_;wwéw.v.m

(D) - ==/ /g

- mifal, THifaaE, <9, WHSE,

—

41. TEER W wEw fawg A 2

&) T (A) =

(B) /smof e @) 3SR

© (C) ST
(D) =

42. T A e o T ¥ ?

(A) ST
FrefafEs o = aAgds e = (B) TSt
g g 9 S A ©) T
s wem Wafaaed ® ww fad, (D) TS

43, fogm @ @ § fra i@ = AW
arefee, faam § SR & e 59

& fom 22 ¥ 29 W T TEEA wE

(A) T

FEM T wE TAEEE ¥ AT ® B

aifen ) 23 B TER ¥ I T D ©
ﬂﬁw.ﬁmﬂg%ﬁﬁﬁ ; "
; (D) FE AW T

2 e fza I e H AR
2 T g S e | <Y forea T
%m.._%mﬂ%ﬁ:%_mgﬂﬂﬁ

a4 TR AR wEa faE R 2
(A) TR

i @ A o wifer) S S (B) T
o G wE A W W A (C) T
(D) e

=fewt

AT-11—-A =
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46.

Directions (Q. Nos,

45 to 48) :

Mww&u of these questions contains
wo mw.mnwEoSnm followed by two
nObn_mm.onm numbered I and II. Take
nWm given statements as true even
though they may seem to be at

variance with reality. The

N_nowﬁwﬂ.e.m.m given under each
question indicate the conclusion(s)
that may logically follow from the

given statements. Choose the correct
alternative :

Statements :

All xivs are trax.

All trax are fnix.

Conclusions :

I. All trax are xivs.

II. All xivs are fnix.

(A) Only conclusion 1 follows

(B) Only conclusion II follows
(C) Either conclusion I or II follows

(D) Neither conclusion I nor II
follows =

Statements :

‘Some computers are telephones.
All telephones are elephants.
Conclusions :

1. Some computers are elephants.
II. All telephones are computers.
(A) Only conclusion I follows

(B) Only conclusion II follows
(C) Either conclusion I or II follows

(D) Neither conclusion I nor 1I
.mczoim

AT-II—-A
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47. Statements :

Some ears are eyes.

.WOBm tongues are teeth.
Oon»o_.:mmoﬂm i

1. No tooth is m.mn..

II. Some ears are teeth.

(A) Only conclusion 1 follows *
(B) Only conclusion II follows -
(C) Either conclusion I orIT follows
e.v Neither conclusion I b.om 11

. follows

.

48. Statements :

ALl hives are .wrm:m.
No shell is house. o7
" Conclusions :,
I No hive is house.
II. Some houses are shell.
Qw,v Only n.obo_:mmoﬂ 1 follows
(B) Only conclusion II follows

" (C) Either conclusion I or II follows

(D) Neither conclusion I nor II

follows

45. YA -

AT (I . 45 ¥ 48) .
T T H QTR ¥ v @ e

¢ o e s
g

i e
[N et

w3 A (13 1) ¥) e o s |
F A U S AT Y wwd ¥ R

w0 T WA e g o e,
ol B R Prord W e w0
%) @ o w1 Tm wt

Tt xivs trax ¥1
daﬂ?mwawuﬂw_
e :
1. @l trax xivs ¥\
1. @l xivs fnix ®)
(A) dew T 1 9@
(B) 3@ e 11 T
©) Frerd 1w I W%
ev‘u.ﬂﬂﬂwxﬂﬁ.m@
46, FER
%ﬂﬂmﬁ%m;.
d&wmwﬁmﬂ%w.
s ¢
1 WP wER e
I wh TR FEEER R
(a) dow fred 1 W
(®) Fow Frad T
© Frwd 1 W I W E
.Aduuﬂjﬂﬂmwﬂ.@ﬂ.ﬂ@

AT-TI—A

AT.

dgA

© FA @ T\

FT AW W@ RN

1 = <h wE T R

1. %P FH @ &)

(A) Fow ferd 1 W@ '

®)

Fo@ Tl 11 IR

»Qﬂmlasﬁﬁm,_w
D) & e 13 & I R

48. ¥R

23

T TN O §
B W T €

et :

L ﬂw@ﬂﬂ.&ﬂ
1. &9 W @ &

(&) Fo frewd 1
(B) e o W

. mogﬂﬂu:ﬁ:‘_d@w

@)= freed 17 @ 11T

P.T.
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o
3 ,
w7 5 vca..”q ~
w7 «.\.
oe.zeov.\ . otions (Q. Nos. 51 to 54) .
Directions (Q. Nos. 49 and 50) : | D * ds gi
Letters of the WOrds given beloy,
In a certain code umnﬂﬂmmm. have been .:haw—m& up. You are
amncr.mm to construct these words,
I.  ‘cod dex nou’ stands for ‘banana Each letter has been =n5€mnwm and
is sweet’ - each word is followed by four optiong,
Choose the option which gives the
II. smu_..N Amlmu.n hux’ stands for nOHNmnw QHQQH of the ~®ﬁﬁm~¢m as 3
‘furniture is good’ indicated by the numers 1o h
; the words :
III. ‘cod hux ple’ stands for ‘banana 5. ECKPTO
and furniture’ 123 45 6 - ; :
IV. ‘da ber nou’ stands for ‘oranges (A) 564123 .
are sweet’ , " (B) 416532
49. Which word in that language stands (C) 462315
| for ‘sweet’ ? (D) H36SE .
522 TL A SERTL
(A) dex
12345617
B .
(B) nou (A) 2345671
(C) cod (B) 2315476
©) tru (C) 4153267
(D) 4152736
50. What does ‘piz’ stand for ? .. :
5. RITPIOMZIXY
(A) Banana - 123456 789
(B) Furniture - (A) 456821379
© ) (B) 416827539
(C) 417852639
(D) Orange (D) 325169487
AT-1I—A 24

ot
v

frvr (U . 49 7 50)
™ ¥ Fre 9w #,
1. ,..oom dex now’ ¥ afimurm ‘e

Hia ¥

‘piz dex hux ¥ g ‘&A=

= B

1L

A

II. ‘cod hux ple’ ¥ atfimm ‘e 3l
L Tincil d

IV. ‘da ber nouw’ ¥ HPWE ‘TR
Y

49. T W H TR 7= F ok "

(sweet) & ?
(A) dex

Qw.v nou

d Aou. oom.

w D) tru
piz T W R
(A) S
(B) Wi
@ =1
i) .«.aw

50.

AT-TI—A

391 (U ®. 51 ¥ 54)

i T e T B e AT €
TR TR 9T T P B B
e B T s fom T % @ IO
= & =% fawes $1 9% fawes T
% @ ™ T %A e M IR F
SR T FR

5. EC K PTO

1 2 3 45 6 i %)
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(A) 564123

(B) 416532

(C) 462315

(D) 136245
5. TLASERYL
1234561
(A) 2345671

(B) 2315476
- (C) 4153267

D) 4152736

5. RITPIOMZXY
123456 789

(A) 456821379
(B) 416827539
(C) 417852639
(D) 325169487

25 P.T.
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5. ANCTTI B E
1 2 3 45 6 7
(A) 3146752
(B) 3165274
(C) 3126547
(D) 3714256
Directions (Q. Nos. 55 to 58) :

Each of these questions has a

problem and two statements,.

labelled I and II. Decide whether the
statements are sufficient to answer
the given problem :
55. What is the value of the ratio
p:g?
. 3p=2
II. 2p +qg =6
Choose the best alternative from the
following :
(A) If you get the answer from I
ALONE but not from II
ALONE s

(B) If you get the answer from II
ALONE but not from I ALONE

(C) If you get the answer from

BOTH I and II TOGETHER,
but not from I ALONE or II

ALONE

(D) If EITHER statement I
ALONE OR statement II
ALONE suffices

26

56. What is the value of the integer

n?
L p2-10m+9=0
1 1 1

o > =
. §7n-1"9

Choose the best alternative from the

following : .

(A) If you get the answer from I
ALONE but not from II
ALONE

(B) If you get the answer from II
ALONE but not from I ALONE

(C) If you get the answer from
BOTH I and II TOGETHER,
but not from I ALONE or II

ALONE

D) If EITHER statement I
ALONE OR statement II
ALONE suffices

57. If n is an integer, is n a two-digit

_number ?° .

I. 100n is a four-digit number.
II. n?is a four-digit number.
Choose the best alternative from the
following :

(A) If you get the answer from I
ALONE but not from II
ALONE

(B) If you get the answer from II
ALONE but not from I ALONE

(C) If you get the answer from
BOTH 1 ‘and 1l TOGETHER,

- but not from I ALONE or II

ALONE

(D) If EITHER statement I
ALONE OR statement II
ALONE suffices

éigmum R

R -,

R Esisds

1 234567

(A) 3146752
(B) 3165274
(©) 3126547
(D) 3714256
P9 (YT ®. 55 | 58) :

A WA H uw wwen € e 1 9 11
< w9 &1 Frofa Hifeg 6 wam
T F W IW S

55. p :q JIIG H AR T & ?

I 3p=2 _

I. 2p+q=6

fr d A 3gw fawen g .

(A) TR W Fad FH () VA
W F9@ Q@ (1D ¥ T

(B) 9k IW Faw A (D' VA
W () ¥

() A% w1 3 I 3 §gR ¥
I & T dad [ W waa 1

q &
(D) Fu 1 o wor 11 3 & # o

HYd E@ IW

AT-TI—A
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56. m,qaﬂ (integer) n &1 YA A1 €2
I, 22 -10n+9=0

' 1 1 1
= > -
II. 6 _.V

= i § s fawed 9T -
ﬁEummﬂ%mﬂmmﬁAﬂE@,@
Y Fad QA 1) A A

(B) 7R I Daw@ FwA A AD A D
W T (1) A &

(C) afz wem I 9 11 I wgR F9
I & W Haw 1 A waw 11
g &

(D) w9 1 aga wuA 11 8 8 :g o
HU T I

57. af n wH Qe ¥ ol @ St A

¥ ?

1 100n TR 3f@ @ €& %)

II. n2 9 3@ % & )

frm 8§ sugma fawea 9T :

@umaﬂm,vmmﬂﬁmﬂa;@
T ®a QA () F T

(B) i I Fa@ FW A (ID A
W () A &

(C) 3 Fw 1 8 11 AA §gF ¥
I B g Haw 1 W Fad 11
J T ,

(D) FuA 1 o Fe 11 H QA o
FYA qEE IW

P.T.O
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58. What is the average of p, ¢, r, §
and ¢ in terms of m and n ?

1. The average of p, q and r is m.
II. The average of s and ¢ is n.

Choose the best alternative from the
following :

(A) If you get the answer from I
ALONE but not from II
ALONE

(B) If you get the answer from II
ALONE but not from I ALONE

(C) If you get the answer from
BOTH I and II TOGETHER,

but not from I ALONE or II
ALONE

(D) If EITHER statement I
ALONE OR statement II
ALONE suffices

Directions (Q. Nos. 59 to 63) :

Find the wrong number in the
following sequences :

59. 56, 72, 90, 110, 130, 156 is :
(A) 72
(B) 110
(C) 130
(D) 156

AT-11—A 28

60.

61.

62.

63.

g, 13, 21, 32, 47, 63, 83 is : .
@ 82

B) 47

(©) 63

) 83

0, 7,26, 63, 124, 217, 342 is :
@A) 217

® 7

(© 26

D) 63

7, 4 5, 9, 20, 51, 160.5 is :
() 4

®) 5

© 9

D) 51

6, 10, 14, 34, 66, 130, 258 is :
(4) 10

(B) 14

(©) 34

D) 66

\

58. P,q, 7,8, t M mdnd Hedl # i

¥ 2 (A) 32
L pg3r® shwmm @) 41
AL s atw Swaa ® ©) 63
fm & A sm e 9f (D) 83

A MNMIWMFFE®H OIA D
™ wEE QA (D XA T

(A) 217
(B)aﬁm%aawﬁm)%ﬂ ® 7
WU () F
. (C) 26
©) 3 F9 13 11 A I §9 :
) (D) 63

B I A oy e 1w Haw 1T

3 :
(D) Fom 1 3 %o 11 8 & B oK & 4
T W@ IR ® 5
Fiw e . 59 W 63) © 9
= wm ¥ Tem den R (D) 51

59. 56, 72, 90, 110, 130, 156 :

(Aa) 72 (&) 10
®) 110 (B) 14
(C) 130 © 34
(D) 156 ‘ ®) 66
AT-TI—A 29 ‘
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60. 8, 13, 21, 32, 47, 63, 83 :

61. 0, 7, 26, 63, 124, 217, 342 :

62. 17,4,5,9, 20, 51, 160.5

63. 6, 10, 14, 34, 66, 130, 258 :

P.T.O.



Directions (Q. Nos. 64 to 68) :

What should ¢ome next in the
following number series ?

64 987612345
987/12349g

(A) 3

B) 1

©) 2

D) 5 3
65. ABBDCFDHEJ
(A) N

(B) O

©€) K

D) F

i
66. IFGFEDC@"IHGFED
CIHGFE g

@1
®) C
© B
®) A

‘ .
7. 9753@18642@"975/318
6422//975318642{/975

41
(B) 5
) 3
D) 5

|
98712345

-II—A ) 30

68. 223234[234:_5_23'.45623

456 oo

(A) 2

®B) 7

© 8

D) 3
Directions (Q. Nos. 69 to 71) :
These questions are based on the
follo;ving English alphabets/numeric
numbers/symbols _arranéemex;ti

Study it carefully to answer these

questions.

A8B6#7THU%3$FVR2
I@e\41WE9OLS5

69. How many such numeric numbers

are there in the above arrangement
each of which is immediatel_} :
followed by a vowel but not .
immediately preceded by a numeric

?
number ? v

(A) None

(B) One

(C) Two
(D) Three

P& O %, 64 3§ gg)

3 . X 68.22323423452345623
Frefafan s staen % s @ o :
ey ? : 456
64. 98761234598719345 @ 2
987123493
(a) 3 ®) 7-
B) 1
), © 8
© 2
D 5 D) 3
6. ABBDCFDHEJ ¥t (0w W 69 R 71) :
A) N -

" (® 0 f&u T 3w sidh awll, wem, fad W
©) K i ¥1.3% M A 1§ 9 SW )
o F AB8BB6#THU%3$FVR2

- 66. IHGFEDCBAIHGFED
CIHGFE - I@\41WE9OLS5
@ 1 69. IW QA T Hgren #§ fhad @IS
~®.C st % forr e # e ¥ g TR
© B :
© A dem T ¥ ?

67. 97531186422975318 Ay ®E @
6422975318642975
@ 1 ' BT
©) 3 :
D) 5 D)

PO T 31 P.T.0
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71. If all the symbols are dropped from

o AR i v ki

73. The greatest number among 350,

70. How many such symbols are there
440 530 and 6% is :

in the above arrangement, each of

which is immediately followed by a @) 3%

consonant and also immediately ®B) 440

prer_:eded by a number ? © 530

(A) None ) 62°

(B) One 74. If J5329 = 73, then the value of
(C) Two /5329 + V5329 + 05329 +
(D) Three J0.005329 + +/0.00005329 is :

() 81.1003

the above arrangement which of the (B) 81.0113 -
following will be eighth from the left (C) 81.1103
? .
S S D) 81.1013
@ v ‘ 3
(B) $ 75. The square root of T-075 _'0.75) +[0.75
©u +(0.75)% + 1] is :
(D) 3 A1
72. How many such digits are there in B) 2
the number 7346285, which are as ©) 3
far away from the beginning of the D) 4

number, as they will be when
arranged in ascending order within

the number ?

76. The largest among the numbers
Vi-V5, 5-V3, o-+7,
VIT- 9 is:

(A) None @) 7§

(B) One B G-

(C) Two © B-v7

(D) Three O ii-%
AT-1I—A 32 »

e ?
(A) = &
(B) T
© =
D)

a2
A v
® s
()8
D) 3

i 2
(A) w8 T
(B)
©

(D)

AT-II—A

70. Wmﬁ@mm-ﬁz
¥ o THeH W s e wed

71, fE ST e § 9ol vl 5
feg s, < 1 3 @ S s A sl

'72. e 7346285 H W R o W
e & AT A TR A Q¥ e
fr dEm W AE w9 A w0 W R

73. 3
T

(A) 3%
(B) 440
(©) 530
D) 620

74. A (5329 = 73, W 6329 +
V6329 + 05329 + 0.005329

+ J0.00005328 1 HEA A

(A) 81.1003
(B) 81.0113
(C) 81.1103
(D) 81.1013

50 410 530 5i 620 & g oSt W&

- 0.758
7. 1-0.75)

T ¥
(A) 1
(B) 2
C) 3
D) 4
6. JT-J5, J5-8. -7,
JI1-o & 5o =& g ¥ -
B 7-J5
®) J5-3
© -1
D) J11-9

+ 1075 + (0.75)% + 1] =1

33 P.T.O.
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78. I x = (0.08%, y = —— and
0.08)

z = (1 -0.08)2 — 1, then out of the

following, the true relation is :

(A) y<xand x = z

B) x<yandx =z

C)y<z<zx
Mz<x<y

79. The value of the expression
- 1763 + 1722 - 17x + 17 at

x=161is:
A) 0
(B) 1
C) 2

D) 3

AT-11—A 34

g0. If 738A6A is divisible by 11, then

81.

82.

the value of A is :

(A) 6

(B) 3

© 9

D) 1 “
Walking at 3 km per hour, Pintu

reaches his school 5 minutes late, If
he walks at 4 km per hour, he will
be 5 minutes early. The distance of

Pintu’s school from his house is :
3

(A) 5 km

(B) 2 km

(C) 2.5 km

D) 5 km

Which number should replace both .

the question marks in the following

equation ?

(A) 384
(B) 398
(C) 404
(D) 416

77, AR T = @43y -1 @y

TqE T :
2
@ 3
® 1 -
©) -
>
3
(D) 1
78. AR x = (0,082, y = —— i
(0.08)
z=(1-0082-1,d fi= § ¥

.mm.mw"
A y<zxrTWxr=z

,ﬁwvaAQﬂm.x

z

I

C)y<z<x
M z<xz<y

79, arfysaf o — 17x° + 1722 - 17x + 17
at x = 16 & AF ©§ :

a) 0
B 1
© 2

D) 3

80. 4% 738A6A 11 X wed &, @ A
e
(A) 6

(B) 3
(©) 9
D1

‘81, fiz 3 fd. wf woe i TwR A I
w5 fre 30 ¥ i 31 AR 9w
4 fedl. v wve ) R | 99 @ T
e 5 e wedt wgem ) i ® W
AEERQ@ET ?

@ S
®B) 2 &t
(C) 2.5 feil.
(D) 5 f&.
g2. fretfefaa T # HmE wea
TYATTR B UGS HON ?

7 _ 256
576 ?
(A) 384
(B) 398
(C) 404
D) 416

AT-1I—A
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What should come
question mark (?) i,
question ?

mH.H x Nmm.q x Mw.m _ N.w
(A) 12 B
(B) 14
(C) 58.806
(D) None of the above
84. The number x = 1.242424

in place of
the following

can

be expressed in the form x = p/q
Erm.nm P and q are positive integers
having no common factors. Then the

.

value of (p + q) is :
A) 74
(B) 76
(C) 222
D) 72

Directions (Q. Nos. 87 to 91) :

85. If the numerator of a fraction is
increased by 800% and the
denominator is increased by 300%,
the resultant fraction is 9/7. What
was the original fraction ?

(A) 477
(B) 13/12
(C) 11112
(D) 7/4

86. By how much is 3/5 of 735 greater
than 2/3 of 633 ?

- (A) 17
(B) 13
(C) 23
(D) 19

Study the following graph carefully to answer these questions :

700 —

HproductA

N productB

PRODUCTION IN LAC TONS

2000 2001

2002
YEARS

2003

2004 2005

AT-1I—A

(A) 12
(B) 14
(C) 58.806
D) 37w § A B
84. WEA x = 1.249494 Eal

x =plq 3 Afvem frm o w2
AR p R g T quiE § e

3

et (uv %, 87 @ 91)

85.

86.

IR T 310 & =i A 800% T@rl
T SR e (ST @ 300%
Tl WY @ wiumTesy siw 9/7 g1
AR (W|) sfw w7 ¥ ?

(A) 4/7
(B) 1312
© 1112
D) 714

735 1 3/5, 633 & 2/3 ¥ ferat A
4 afyw (s=91) ¥ 2

(A) 17
(B) 13
(€) 23
D) 19

Fet o @ e @ ofen @ W @ e A

700

600

300

400

300

B productA

B productB

200

PRODUCTION IN LAC TONS

100

UTTHTTEETTTTETT T

2000 2001 2002

2003
YEARS

2005

2004

AT-II—A
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) . is the percentage increase in .
87. What is the respecti i 8. Whatjgt W T S IIIGA 49
REGATS TRt betveet production of the two products. 87, R A’ ¥R IR B # 2000, 2001 | 89 I % F & 200
the total production of product A | . together from the year 2004 to the 2 2002 % g ot 2005 T FFa wwE & TGl € ©
during the years 2000, 2001 and year 2005 ? (rounded off to the . & ka (frpem o @) ?
2002 and the total production of nearest integer)- Gelferd S w ? (A) 29
) A) 29
product B during these three - (B) 32
) (B) 32 (A)-13 : 12
years ? ©) 35 (C) 35
; 90. What is the average production of 90. f&u My ol #§ I A’ 1 iEd SR
(B) 12 : 13 . . ) 25 : 24 . |
product A (in lac tons) for the given . (C) 25: Y (T ) 2
(C) 25 : 24 . years ? .
D) 24 : 25 . (&) 4565 4 3
: I A’ ’ ) 1
88. Total production of products A & B (B) Ammw . _ - 88 & 3B S 2000, 2002 (B) Ammw
3 - (e X .
together for the years 2000, 2002 & : : 3T 2004 1 FW IARA GHI % 2001, 1
2004 h (©) Aqmw av @qmm
is what 1 3 _ .
1s what percent of the tota 6 | . 2003 3R 2005 3 FHe TG 1 TR
production of the two products D nmmw ; (D) Amwm
(D) 46973 yiovm § (JUEE ® Wk QS 8 |
together for the years 2001, 2003 3 ged § frefafea =i
91. Which of the following combinations 91. 39K B % WT
2 .. U . Q
& 2005 ? (rounded off to two digits of year and percentage indicate the ) # s el fred @ &1 gern |
after the decimal). lower percentage fall from the . wiaerd &t =49 @ figee o sfim &=
@) 7742 previous year in the production of @ qq_.pw @t 2
product B ?
(B) 7841 (A) 2004, 5% (B) 78.41 (A) 2004, 5%
(B) 2004, 10% ' (B) 2004, 10%
(C) 81.72 : (C) 8172
(C) 2002, 15% (C) 2002, 15%
(D) 83.64 D) 2002
(D}.2002, 20% (D) 83.64 (D) 2002, 20%
AT-II—A 38
AT-1I—A 39 P.T.O.
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Directions (Q. Nos. 92 to 96) : frdy (U9 . 92  96) .
; , i th
m:::w the information in the following table to answer these 1 2ae @ am g ufew @ WAl & I QT
questions : ) .
Details of 1500 total employees and 800 male employees working in an ) T F @ @ 1500 FHERE AR 800 Tow wrwfid, <
organization in various scales are given in the table : #F TR E F o o A @ W R
employees ! | | M M v v VI Vil employees ! | | Il M \% v Vi Vil
scales — : ! +| scales—
Total 22% 15% 19% 10% 12% 14% 8% Total 22% 15% 19% 10% 12% 14% 8%
1500 1500
employees . employees
Total 24% 18% 16% 1% 12% 9% 10% Total 24% 18% 16% 1% 12% 9% 10%
800 male ; 800 male
employees . employees ]
92. How many females are working in | 95. The number of male employees 92. @ha-1I § foha g #d § 2 95. ®ha-VI # %M I T TTW HUERl 39
2.
Mm_mm e working in Scale VI is what per cent (&) 144 s S o S @ e SR
MWW MMA of the total number of employees in g (B) 81 % (Frem Tim @)
that scale ? (rounded off to the (©) 96 L
(C) 96 _ nearest integer) (&) 35
(D) 138 . (D) 138
: A) 35 v : (B) 46
93. What is the ratio of male to female @ R 93. ﬁ,ww & m.m@mﬂﬂwmaﬂ.@mﬁ ST :
employees working in Scale V ? (B) 46 T (C) 44
(A) 7:8 ©) 447 S A T8 D) 34
B)2:1 B) 2:1 ' i y
(D) 34 96. WH-VI § HHE wiean A= @
(C) 8 :7 ) (C) 8:7 : ]
O 1:2 96. What is the ratio of the female : a2 _ Tha-1 & YEu SEEEl § a9 I
94. What is total number of female employees _.n Scales VI to the male 94 WE-III ¥R IV & = R %2
employees working in Scales IIT and employees in Scales I ? . w2 (A) 32 : 23
IV together ? (A) 32 : 23 : :
() 219 157 228 59 . (4) 219 (B) 22 : 33
B) 157 . . _ (B) 157 ©) 23 : 32
(C) 162 (€ 23 : 32 (C) 162
(D) 285 (D) 23 : 12 (D) 285 (D) 23 : 12
AT-II—A 40 AT-II—A 41 P.T.O.
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Directions (Q. Nos. 97 to 100) :

Study the following graph carefully and answer the questions given

below it :

Number of employees working in various departments of two different companies
(number in hundreds) are given in the graph.

9
8 4
A
7
8 6
[
] A\
2= 5
- 4 —&—company A
] Jr/ .
2 3 —i—company B
-, /
1
0
m HR Marketing” Finance  Admin
Departments
97. The number of employees working | 98. What is the ratio of the total number
in the Marketing Department of of employees working in the ?&Eu
company B are what per cent of th Department of both the companies
pany per cent o ) . together and the total number of
total number of employees working employees working in the Finance
in the company ? Department of both the companies
?
(A) 30 together ?
®B) 28 (A) 2:3
(B) 4:3
© 23 ©) 3:2
(D) 32 D) 3:4
AT-1I—A 42

et (W9 ®. 97 | 100)

Fe TE R e ¥ oy 7w @ s AT .
T A M w2 fhe R d wvRe sand @ den (dwE) H

U P

.

P Y NZ AN
u.m 4 /J ~&—company A
m 3 N _ lilnoaumi.w
2
) )
0
m HR Marketing  Finance Admin
Departments
97, wwh B wEE foam & e ey | 98, SF Mﬁﬂﬁmﬁ%ﬂﬁ
Mﬂwwwﬂﬂﬂm&ﬂg%ﬁ Mﬁﬂaﬁﬁdﬂﬂ@@gﬁaﬂ
: i 02
(290 (A) 2:3
() 28 (B) 4:3
() 23 © 3:2
(D) 32 D) 3:4
AT-II—A 43 P.T.O.
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99. The number of emplo i 100. If the number of employees working .
yees working . . Ed A, fawm #
99. FT A F HR fawm % afard 1007 Fwl B A oA

in the IT Department of company

FILRF AL e TR 20 Avn E5F on 2 508 men K00 aae. m_w

in the HR department of company
e %) den 20% w@ @ e, @

: 3 is i 20%, what would . .
A is approximately what per cent of f if ingcasediby T B R wHwfE Ealcuto

] ’ |
be the difference between the S B & o). fawm & FHEr °
the number of employees working in

; frm vt Frpeam ot
number of employees working in LR i &) T AD O S

the Finance Department of company

ket

the IT Department of company B
% weg fRam o dm ?

é B ? (rounded off to the nearest (A) 44
Lfy and the Admin Department of
F integer).
5 company A ? (A) 500
g (B) 207
i (A) 44
3 (A) 500
1 (B) 350
! (B) 207
; (B) 350 » (C) 53
! (C) 700

(C) 53
! © 700
|

D) 229

D) 2

| (D) 229 ) 400 (D) 400 _
AT-1I—-A 44 AT-1I—A 45 P.T.O.
" Fe 4
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